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IBPS PO pre 15" Oct Shift 1st

Topics No. of Questions
Blood Relation (3 generation, Only Family Member) -
Syllogism (Only or few) -
Liner Based Seating Arrangement(mixed 4north ,4 south) S5
Liner Based vertical seating arrangement 5
Floor Based Puzzle(5 Floor,5 Person,Clothes ) 5
Inequality -
Meaning full Word (F,O,U,L) 1
Pair Formation 1
Odd one Out 1
Alphabet Based 5
Total 35




_ IBPS PO pre 15" Oct Shift 2nd

Topics No. of Questions
Direction & Distance(2 person, travel based ) 3
Syllogism (3 statement, 2 conclusion )1 only or few and 4 normal 5
Double line Based Seating Arrangement (8 Person facing opposite 5

- each other

Liner Baﬂl (uncertain no of person) seating arrangement 5
Floor, Flat Based Puzzle (3Floor,4 Flat ) 5
Inequality 5
5 person occasional bassed puzzle 5
Pair Formation 1
Odd one Out 1
Total 35




_ IBPS PO pre 15" Oct Shift 3rd

Topics

No. of Questions

Liner Based (uncertain no of person) seating arrangement (12 Person)

3

Syllogism (only or few )

Liner Based (uncertain no of person) seating arrangement (14 Person)

Puzzle(schedule based puzzle-2 Date,3 Month, city with 6 person )

Post Based Puzzle(6 person.6 post,6 watch brand )

Age Based Puzzle(6 People)

language coding

Digit based Question(Forward Backword )

DD [ D | | D | O] WDn

word Formation

Total

35




_ IBPS PO pre 15" Oct Shift 4th

Topics No. of Questions
Parallel Row Seating Arrangement 5
Floor Based Puzzle =
Month & Date Based Puzzle 5
Uncertain Linear Seating arrangement 3
Sequence (Box based concept) 5
Inequalit 3
<C,hinese Coding Decodi@ 5
Blood Relation 3
Meaningful Word 1
Number Based 1
Total 35




_ IBPS PO pre 16" Oct Shift Ist

Topics No. of Questions
Year based puzzle + variable (fruits ) — 5 person 5Q
Circular seating Puzzle ( some inside some outside, 7 peow 5Q
Box based puzzle ( 9 person ) ~ 4Q
Uncertain linear puzzle ( 14 person) 5Q
Syllogism ( Only a few ) 3Q
LReverse Inequay o 30
Number pair 1Q
Single Row puzzle + variable 5Q
Direction 3Q
Meaning full word 1Q

Total

35Q




_ IBPS PO pre 16" Oct Shift 2 a1
- 3

Topics No. of Questions

Month & Date Based Puzzle (Variable- Fruits)- 3 month 2 days

Designation Based Puzzle

Linear Row Seating Arrangement

Syllogism ( only a few )

Inequality

Numeric Series

Direction & Distance

Blood Relation

Odd One Out

Word Pairing

—f =] = W] W N B W B D D

Meaningful Word — DARK

\U'S)
()]

Total




_ IBPS PO pre 16" Oct Shift 3rd

Topics No. of Questions
Doubl&Rcrvae{ing Arrangement (Variable) 5
Year Based Puzzle (Blood) 5
Linear Seating Arrangenle/nt 5
D\gignation Based Puzzle R
Circular Seating Arrangement 5
Coding Decoding 4
Blood Relation R
Miscellaneous 5
Total 35




_ IBPS PO pre 16" Oct Shift 4th

Topics No. of Questions
Age Based Puzzle 5Q
Square Seating Arrangement 5Q
Designation Based Puzzle 5Q
Box Based Puzzle 5Q
Comparison Based Puzzle 3Q
Syllogism ( only a few ) 30
Chinese Coding Decoding 5Q
Number Based 1Q
Meaningful Word 1Q
Word Based 1Q
Miscellaneous 1Q
Total 35Q




(-

There are six persons namely, P, Q, R, S, T, and U.
They all belong to different cities namely, Delhi,
Lucknow, Chennai, Kolkata, Mumbai, and Pune but
not necessarily in the same order. They have
different posts in their respective offices. The posts
are Chairman, General Manager, Senior Manager,
Manager, Assistant manager, and Clerk in the
descending order of seniority. Chairman being the
highest post and Clerk being the lowest post. P
belongs to Mumbai and has the lowest post. Two
persons have their post between clerk and the person
who belongs to Chennai. R 1s the senior manager
and 1s just senior to T who belongs to Kolkata. The
one who belongs to Lucknow is senior to T, but is
not the senior most person. U belongs to Delhi and is

junior to S. Q 1is the General Manager

P,Q,R, S, T, 3 U 9 ¥ BT Afh 2| o At

T3 T | eifera 8, 37t foeedt,
TGS, ==Tg, FhicTehldT, HoTg 3 07 Aok
St Tl foh 3t she | Bl TFI%FW'&M CARIGRT
T AT-STAT UE & IS IRET oh STt shd |
LY, HETISHh, INE JoUeh, Tai¥ich, Hadh
Jeiereh 3T acteh o TeeT Tai=d g © 3TN
ATk FeTae 9 2| P Heis § Heifed © 317 36
UTE e 1T e 1 Fefeh 31T =18 § Helferq
ek o o=l a1 ARl o1 U< 1 R IS Yeitreh @
3T T ST hicTehldT ¥ Heiferd 2, 9 Sieh s 2
I8 Ffth Sl TTES 9 Geifyd ®, TH IRy ©,
Ao Ted IR Tk e =l U fooett @ eifera
g 3R S H &8 gl Q HEIEY &
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There are six persons namely, P, Q, R, S, T, and U.
They all belong to different cities namely,Delhi,
Lucknow, Chennai, Kolkata, Mumbai, and Pune but
not necessarily in the same order. They have
different posts in their respective offices. The posts

are Chairman, General Manager, Senior Manager,

Manager, Assistant manager, and Clerk in the

Eescending order of seniority. Chairman being the
highest post and Clerk being the lowest post. P
belongs to Mumbai and has the lowest post. Two
persons have their post between clerk and the person
who belongs to Chennai. R 1s the senior manager
and 1s just senior to T who belongs to Kolkata. The
one who belongs to Lucknow is senior to T, but 1s
not the senior most person. U belongs to Delhi and is

junior to S. Q 1s the General Manager




R
. 'we are reaching Bombay’ is written as “zik pik lik hik’,

————

‘Bombay is really beautiful' is written as “hik dik mik nik’,

‘Is mohan reaching there’ 1s written as ‘lik tik cik dik’ and

‘we really need mohan’ 1s written as 'mik wik tik pik’.

What 1s the code foré ‘Bombay’jin the given code language
EOTTI'QC@ ‘ﬂTEITﬁ'Bombay' b T 27

(A) pik (B) lik
(O) tik (D) hik



'we are reachifig Bombay’ is written as ‘zik pik lik hik’,
‘Bombapﬁ really beautiful' is written as ‘hik dik mik nik’,

}(mova/n rea /h’fn is written as ‘lik tik cik dik’ and

‘we really need m /han is written as 'mik wik tlk pik’.

What 1s the code for @in the given code language ?
&1 15 e |TNT H 'cik' o ToTT she T &2

s (@ e

(C) mohan (D) reaching




'we are reaching Bombay’ 1s written as ‘zik pik lik@,
‘Bombay is really beautiful' 1s written as dik mik nik’,

‘Is mohan reaching there’ is written as ‘lik tik cik dik’ and

‘we really need mohan’ 1s written as 'mik wik tik pik’.

What may be the possible code for/'mohan reaching Bomba)}in
the given code language ? - — B

&1 7S %< WINT H 'mohan reaching Bombay* 7T HHTIerd e 1

gl gohdTl 27 /
(A) tik lik hik (B) bik gik nik X

(C) gik nik cik <X (D) cik gik dik X




/z/afre reachjng Bombay’ is written as(/ Tl_())}rk/)rlf/h{li

‘Bombay is really beautiful' 1s written as hﬂﬁilk mik nik’,

‘Is mohan reaching there’ 1s written as ‘}ff(tik cik dik’ and
‘vy( really need mohan’ is written as 'mik wik tik pi’f(’.

What is the code for in the given code language ?
ECTTfé?:l&?f TST | 'are’ %ﬂ‘fl@ T hd 27

(A) only zik _— (B) only nik

(C) either zik or pik (D) either zik or tik
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Statement:

Some subject are class
Only a few class 1s notes
Only few notes are important

Conclusion:

I. Some 1mportant are not )(
class.

II. Some important are class. )<
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Some Cab are not Ola.

Only few Uber are Cab.

. it
Some Micro are Ola. %h@ HIgehT ATl
Conclusion. ﬁ'@Fﬁf
I. Some Cab are Uber. I. R el JaT %l

II. All Micro are cab 1s a possibility. [T Hﬁqﬁaﬁ%%ﬁﬁﬁ
GYTSHT 2
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Statements

Some Cab are not Ola.
Rt

Only few Uber are Cab.

Some Micro are Ola.

Conclusion.

[. Some Cab are Uber. L/
II.  All Micro are cab is a possibility.
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_ Statements

No HS are CX.

Only few CX are KP.

Some BY are HS.

Conclusions

I. Some BY are CX 1s a
possibility.

II. Some KP are not HS.

Q horr
hq

%13 HS, CX &l &)

A F8 CX , KP &

FS BY HS

s

F® BY o CX &I shl €WTeHT @)
F© KP , HS 781 €
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_ Statements

No HS are CX.

Only few CX are KP.

Some BY are HS.

Conclusions

I. Some BY are CX 1s a
possibility.

II. Some KP are not HS.

e
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Statements hYq

Some Cab are not Ola. he hel AT 21 2
Only few Uber are Cab. hal hS 3 ohel Bl
Some Micro are Ola. h HTSshT 3TTT o
Conclusion. Er=a]

I. Some Uber are not Ola. he 39T 3T 2l 2

II. Some Ola are not Cab. e AT hel qﬁ%l
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Statements

Some Cab are not Ola.
Only few Uber are Cab.

Some Micro are Ola.

Conclusion.
I. Some Uber are not Ola./

II. Some Ola are not Cab. )<




h

which has as many letters between (in both forward and backward
direction) them in the word as they have between them 1n the English
alphabet?

3168 "MAILINGS" ¥ 37&R o foha SIS &, S & e o sty 3 & 378
& (3T SR AT ST et ) fore foh il sofwret # S9eh sft=r &2

—

oo IR
. None 1 .
02. Two @ M A ’ D

| .
03. One (\ \jj
04. Four

05. Three
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Statements:P>Q=R2T<MSNSg)

Conclusions:

. T<P
nLo>T .~




Statements: ASD=QSYSW=Z2X

Conclusions: —

LA > rez(emy

II. A<Z




| Among the eight family members P, Q, R, S, T, U, V and W each have
different ages. Q 1s older than only three persons. Only one person 1s
younger than S. P and V 1s the parent of R, Q and S. W 1s father of U who
1s the elder brother of P. T 1s the husband of S. Husband are older than

their wife's.
URER & A AR HA P, Q, R, S, T, U, V IR W Tcdeh sh! SHAT-3HT I
2l Q Shad I SARRAT ¥ TS 2] shaldd Ueh oAtk S U BleT 2l P 3 V, R, Q 3T
S o HTAT-fodT 21 W, U <hT fUaT 2 ST P ST SIST 9T ©1 T, S kT Ufd 21 Ut 379+t

Ul 9 2 2

Who is oldest person ? / TS SHEUST A i &7
1-W 2-R  3-U 4-T 5-None of these




h
Among the eight family members P, Q, R, S, T, U, V and W each have
different ages. Q is older than only three persons. Only one person i1s
younger than S. P and V is the pareﬁ%f}(, Q and S. W is father of U who
is the elder brother of P. T 1s the husband of S. H\usband are older than

.

their wife's.
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Q.Anita and Kabir are two friends is studying in in XYZ art college. Anita starts walking
from her house In north direction . After walking 120m she reached the Axis Bank then
she turns and walks 40m in north east direction. Then she turns 90 degree clockwise
direction and walks 30 to reach Kabir's house which is the east of Axis Bank . Then from

Kabir's house both of them Walk 130m in southeast direction to reach their college which

is east of Anita's house.

AT 3T Shel X ST S & AT xyz arts AT T UG ¢ | maﬁmﬁwmﬁmgﬁ
FIAT Y, 120 HeX T % 13 T R Sk ugedt 31 Forh 40 Hiet sw o feen A gt @
IR TreTdt § | T g 90 Teaft ot it faom & W et © ofR 30 WieX Uger IeTent shaliX o oY
TR UEdl § S Uit ek o U H ¢ | iR et o e 8 T oTu shieisT aeh UgeH o foru
gferuT gt 9T & 130 WieX 4get Ierd & W ST o 9k Ua U B

Q. What is the shortest distance between Anita’s house and xyz college?
T o T 3R T AT S ShicTs o Sl Tarel A g T 87
100m S0m 80m 60m None of these



h
Q.Anita and Kabir are two friends is

studying in in XYZ art college. Anita

starts walking from her house In north

direction . After walking 120m she ﬁ"i‘
reached the Axis Bank then she turns and
walks 40m in north east direction. Then \LO
she turns 90 degree clockwise direction
and walks 30 to reach Kabir's house Ho™* =X Se O’”,y
which is the east of Axis Bank . Then from
Kabir's house both of them Walk 130m in S’ﬁ R
R So ~ (4N

southeast direction to reach their college ——
AL s

which is east of Anita's house. N W SN
E oy
S

Q. What'isthe shortest distahce between Anita’s

house and xyz college?

—
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Eight employees J, K, L, P, Q, R, A and B give a
presentation on four different months of the year viz.
January, April, August and September, such that not
more than two employees give their presentations in each
of the months. Presentations can be given on either the
5th or 10th day of the month. No two presentations can
be given on the same day. J gives a presentation on 10
April. There are five presentations between the
presentations of Q and L. More than two-person give
presentations between the presentations of R and A.
There are two presentations between the presentations of
L and J. R and Q give the presentations in the same
month. B gives a presentation after K. The number of
employees who give presentations between the
presentation of A and B is the same as the number of
employees who give a presentation between the
presentation of K and Q. R gives a presentation in

September.

1S FHHERT S, o, TA, WY, R, AN, T AN s A41eT o6
=T HAT-IA HEHT W Teh Tl ad &l S,
3T, 3T IR foder, S fF T wda v T g
3Tk FHHTRT AT T[T 7 o Tl Hei- 3 5
3T 10 ARG ot &1 ST Hehd | 81 Tk & feq a2
SRERIT A& a1 ST Eeheli] J 10 3T ol Teh TE(d
AT 81 Q IR L Y S o it e Jfaat &l R
HIT A ! TEfdl o sfi<l a1 | ek sgieh Tediadl
4d 81 L 3R J 6T Seqfaat o e &t SEqfedi 8 R
3T Q Te & HEH H Tqfar &d 81 B, K % 918 T
TSIST 2T 8l A 3T B o USieyM o site Ui o
Tt AT shi AT 31 & & 5o fof K 37t Q
1 ISIEIM o S ISIEI S Tl SHHTTIET shl G
21 R sy & SSieH gar 2
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month. B gives a presentation after K. The number o

Eight employees J, K, L, P, Q, R, A and B give a
presentation on four different months of the year viz.
January, April, August and September, such that not
more than two employees give their presentations in each
of the months. Presentations can be given on either the
5th or 10th day of the month. No two presentations can

be given on the same day. J gives a presentation on 10

—

April. There are five presentations between the

presentations of Q and L. More than two-person give

presentations between the presentations of R and A,
There are two presentations between the presentations of

L and J. R and Q give the presentations in the same _

employees who give presentations between the
presentation of A and B is the same as the number o
employees who give a presentation between the
presentation of K and Q. R gives a presentation in

\/’/
September.

/
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Eight boxes of different colours Blue, Yellow, Green, Orange, White, Black, Red and Pink are
kept in stack one above the other. There are only three boxes kept between Blue & Red box.

The white box 1s just below the red box. There are two boxes kept between white & pink. There
are as many boxes between Yellow & Orange as between Red & Blue. The green box is
immediately above the orange box and neither orange nor white box 1s at the bottom of the stack.
The Blue box 1s not at the lowermost stack.

it Wi, B, AR, The, e, AT I ITeTrsl! foifyr= T o 377 1o Teh o 0T Ueh o H W T & At
I AT ST oh STl hel el T Siio T 7T | e STl ATt SiTed o 3ieh =1l 8| Hthe I TATsI T oh
s 21 ST T T | Uit 3T A o st 3 &1 fess @ fSia At 31 it T o sfi=r 81 50 e
AT STerd b 3ok HUL © ST A Al AT 3T 7 & The J1a Toh o A1 g Sl Sad gad fHeet @b W

ERI

How many boxes are there between Pink and Orange box?

1.As many as between Orange and Blue.
2.As many as between White and Black.
3.No box is between Pink and Orange.

4.As many as between Yellow and Blue. 5. Five



|
ight boxes of different colours Blue, Yellow, Green,

Orange, White, Black, Red and PiIE{ are kept in stack K- pim i<
one above the other. There are only three boxes kept V ™~
between Blue & Red box. ’/\)j)\ /

The white box is just below the red box. There are two Lo
boxes kept between white & pink. There are as many @ <&

boxes between Yellow & Orange as between Red &

Blue. The green box is immediately above the orange

- Bita /]

box and neither orange nor white box is at the bottom of
the stack. The Blue box is not at the lowermost stack. QI D(dk

How mar?y boxes are there between Pink and

Orange box?

1.As many as between Orange and Blue. 7 6 _ R B
2.As many as between White and Black. -

3.No box is between Pink and Orange.

4.As many as between Yellow and Blue/

5. Five
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Eight friends A, B, C, D, E, F, G and H are sitting in a CIEREE) A,B,C,D,E F, G I H Uch J TS

circle, but not necessarily in the same order. Four of them %) RIECECIEECE R gg'-}a;qm 30 9 9 §TeT

are facing outside and four of them are facing the centre. ; N N 0 ;
_ | I TR 9@ § 3TN 3TH § IR hg I 3R 3@ 1

F sits second to right of E, who faces the centre. There are N a N NN A

F G T W S3T 8 E o &, ST o5 2l 3R W

direction. C 1s not an immediate neighbor of A. A sits %l E 3T D % off= ?‘ﬂ?ﬁﬁé%%l A 3R B Wﬂ@
o .
second to the right of B. F is an immediate neighbor of B, fereia e <ht 3:h_{% | C, AT THhIdH t{?ﬁ?ﬁ:lﬁ

three friends sit between E and D. A and B face opposite

who faces outside the centre. B and E face opposite 2. A, B D) dc\{*l\{ LA G ST 2. F, B ohl
direction .Immediate neighbour of C face the same ehean yeiHt 2. [STaehT 4@ e & et A '
b ) *

direction .H is an immediate neighbor of D. A sits second B 33ﬁ'{ E %Wﬁ?‘fﬁ?ﬂ%pf P:Zﬁ'{E % | C % ﬁ
to the right of G. Immediate left neighbour of G face the N

TS o1 H& 99 a3 bl 3T | H, D 1
opposite direction. ' > ~ |\ S
What is H’s position with respect to A? ﬁm—q q@_{:ﬁ % AG a; Gl ﬁ QQ\HJ\ T YU &3]

I.Second to the right 2. G o ohedH TR TSI sl 7 T fami shl

2.Sixth to the right 3.Fourth to the left 3:h_{ %
4.Third to the left 5. Third to the right )
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Eight friends A, B, C, D, E, F, G and H are sitting in a
circle, but not necessarily in the same order. Four of them
are facing outside and four of them are facing the centre.
F sits second to right of E, who faces the centre. There are
three friends sit between E and D. A and B face opposite
direction. C is not an immediate neighbor of A. A sits
second to the right of B. F is an immediate neighbor of B,
who faces outside the centre. B and E face opposite
direction .Immediate neighbour of C face the same
direction .H is an immediate neighbor of D. A sits second
to the right of G. Immediate left neighbour of G face the

opposite direction.

What is H’s position with respect to A?
1.Second to the right

2.Sixth to the right 3.Fourth to the left
4.Third to the left 5. Third to the right
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Eight people P, Q, R, S, T, U, W and X live in an

eight story building, but not necessarily in the
same order. The lowermost floor is numbered 1
and the floor above 1t numbered as 2 and so on.
The topmost floor is numbered 8. W lives
immediately below P’s floor. P lives on an even-
numbered floor but not on the floor numbered
second or fourth. Only three floors are there
between P and Q. Only two people live between
R and T. U lives on a floor above S. There are
equal numbers of floors between the floors on
which T and Q live and between the floors on

which P and T live. X lives immediately below

S’s floor.

ABAREP, Q,R, S, T, U, W 3R X Ush 313
TSIt SHRA | &4 &, Wfeh Sl T foh gt
A 1 BT g et Jiste S g3 1 8 31
3k ST 3! HISTe ohl BT 2 3T 36t aig 3T
| go 8 Fu /ST hl ST 8 Bl W, Pk dd
o 3k I W1 21 P Ueh UH HE&AT 1| HiST
T T & i fehet gy 3T <itefi HisTet X e &
2l P 3R Q & s T A AfSeT &I R 3R T
& i<l el & AT &&d =l U, S o ST Teh
ARSI W @ar 21 T 3R Q o vt s tga &

N EANA WP IR TEI B X, SFAAh

3ieh I war 2l




|
Eight people P, Q, R, S, T, U, W and X live in an

eight story building, but not necessarily in the
same order. The lowermost floor is numbered 1
and the floor above it numbered as 2 and so on.
The topmost floor is numbered 8. W lives
immediately below P’s floor. P lives on an even-
numbered floor but not on the floor numbered
second or fourth. Only three floors are there
between P and Q. Only two people live between
R and T. U lives on a floor above S. There are
equal numbers of floors between the floors on
which T and Q live and between the floors on

which P and T live. X lives immediately below

S’s floor.
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8 friends A, B, C, D, E, F, G and H were
born on different years 1980, 1981,
1975, 1987, 1985, 1997, 1991 and 2000
(not necessarily in same order). Note:
They all were born on 1st January and
consider their ages as on 1st January
2020). Three persons are born between
A and B. Two persons are born between
H and G. Difference between the age of
A and F 1s 10. C born just after G. A 1s
older than B. Sum of the ages of C and E
1s three more than the age of D. B was

born after A.
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8 friends A, B, C, D, E, F, G and H were
born on different years 1980, 1981,
1975, 1987, 1985, 1997, 1991 and 2000

(not necessarily in same order). Note:
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They all were born on 1st January and
consider their ages as on 1st January
2020). Three persons are born between
A and B. Two persons are born between
H and G. Difference between the age of
A and F 1s 10. C born just after G. A 1s
older than B. Sum of the ages of C and E
1s three more than the age of D. B was
born after A.
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A certain number of persons are sitting in

the row. All of them are facing towards
south. Q sits sixth from the right of S. T
sits forth to left of Q. Only two persons sit
between QQ and P. Six persons sit between
W and V. R sits forth to the left of S. U
sits between S and T. V sits second to the
left of U. W is third from any of the end.

S 1s eight from the left end of the row.
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A certain number of persons are sitting in
the row. All of them are facing towards
south. Q sits sixth from the right of S. T
sits forth to left of Q. Only two persons sit
between QQ and P. Six persons sit between
W and V. R sits forth to the left of S. U
sits between S and T. V sits second to the
left of U. W 1is third from any of the end.
S 1s eight from the left end of the row.
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Seven persons A, B, C, D, E, F and G have different
heights and likes different colours such as Red, Blue,

Orange, Green, Pink, Yellow and Black. D is shorter

than only 3 person. A is taller than one who likes Orange

colour but shorter than the one who likes Black. E 1s
taller than one who likes Orange colour and does not
likes Black colour. F does not like Blue and Green
colour. B neither likes Red and Pink colour. The one
who likes Pink colour is taller than who likes Yellow
colour. The one who likes Red is not the tallest person.
G does not like Green colour. E is taller than only two
person. B is second tallest person does not like Green
colour. D does not like Orange colour. F does not the

tallest person. C is the shortest person. The one who

likes yellow colour is taller than who likes Black colour.

The one who likes Black colour smaller than F who is

taller than the one who likes Red colour.
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Seven persons A, B, C, D, E, F and G have different
heights and likes different colours such as Red, Blue,
Orange, Green, Pink, Yellow and Black. D is shorter
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than only 3 person. A is taller than one who likes Orange
colour but shorter than the one who likes Black. E is
taller than one who likes Orange colour and does not
likes Black colour. F does not like Blue and Green
colour. B neither likes Red and Pink colour. The one
who likes Pink colour is taller than who likes Yellow
colour. The one who likes Red is not the tallest person.
G does not like Green colour. E is taller than only two
person. B is second tallest person does not like Green
colour. D does not like Orange colour. F does not the
tallest person. C is the shortest person. The one who
likes yellow colour is taller than who likes Black colour.
The one who likes Black colour smaller than F who is

taller than the one who likes Red colour.



Six boxes labelled as P, Q, R, S, T, U were kept in the

form of a stack (vertical arrangement) but not
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Which of the following boxes is placed at the top of
the stack?
1.Q 2.U 3.S 4.T 5.P



Six boxes labelled as P, Q, R, S, T, U were kept in the

form of a stack (vertical arrangement) but not
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necessarily in the same order. Each of the boxes 1s
painted 1n a different colour. The colours of the boxes
were orange, yellow, purple, indigo, red and blue but
not necessarily in the same order. There are two
boxes between S and T. S is immediately below the
indigo box. There are two boxes between the red and
purple boxes. P is kept immediately below the orange
box. The colour of box Q 1s not red. T 1s not placed
above S. Only blue box 1s kept between Q and the
indigo box. The yellow box is kept third from the
bottom of the stack. The yellow box is kept below U.

Which of the following boxes is placed at the top of
the stack?
1.Q 2.U 3.S 4.T 5.P



